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CHAPTER 9

Sequences, Series, and Probability

Section 9.1

Solutions to Even-Numbered Exercises
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1067 PART I11: Solutions to Even-Numbered Exercises
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42. a, = 2n(n + 1)(n + 2)

n |1 |2 |3 4 5 6 7 8 9 10
a, | 12 | 48 | 120 | 240 | 420 | 672 | 1008 | 1440 | 1980 | 2640

n|1 |2 |3 |4|5]|6 7 8 9 10
a,| —s| —3| —-6| 4| 8| 2769 | 129.23 | 746.67 | 5110.99 | 40320




1068 PART I11: Solutions to Even-Numbered Exercises
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In general, a, = 30 — 5n.
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(@ A, = 100(101)[(1.01)* — 1] = $101.00
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The debt is growing as time goes on.
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